40,36
35832
: = =

10,64+

&
oy

S

2 |

: o 7 f{:‘
. i
3473 1 \ i H \
(o577 08, | <0 30 Hl y %7259 iy l ;
= = H - = =
13,08 37,81 23,50
31,64 60,64 42,38 56, o
Gl . W sEw | @R
| Beekpdt — — —lee — — — — — — - - - - - - - - o B Y. Y B |
CKBO3HOM NPOE3R 14 cekuma 15 cekuua 16 cekuma " |
‘ Aﬁkago3—rogra>ka | I— 6,00 - - ‘
N 37,81 | ! [ ] | B
| 36060/ | To3s | % 86 0
A i _ 302 | E |

2 cekuns

12 cekiun SKO-BUOHOE 2. KOPTTYC 4. «<HECTEPOB».
[MJTAH 3-TO OTAXA.

=]

QD P -
11 cexuna & E i /\\6
I /, \\\\
g i /0 % N 3 ceKuus
1

YCNOBHbIE 0BO3HAYEHMA: (ﬁ“nnn \I 7777777777
KeapTuphi Cryamn | u m | H ﬁﬁ‘~—\
| = el
— i - g i
FE—— P A g b ] ,’,
3 - KOMHaTHbIE KBapTpbI { «BACHELLOB»\j l\hnm.ﬂmﬂ} (&ynnal\ —————— N
N o Pl T e ST, N |
4~ KouHaTHbIE KBApTHpI 1\«UJMUJKMH» )
e T
10 cekuua
CKBO3HOW MPOE3L,
77777777 Sewwr . eww 0 hendowe, SO
9cekuma | ‘( g === 7
- | | '
13,08 23,50 23,50 13,08 13,08 23,50 H ! 37,81
1 453 | 212,38 131,64 131,64 22238 + Qs
; = = - = ] = === gL =
SEEY’) 0,82 8 [0 fi 13,02 1254 ¢
4 13,UC 2 d
ICE ey
= I
HA
oo
A al g =

Y=
Q=

68

senmee: B = Uo
40,36 . = 8,60 3,14 ,
{E 7 BE

@ G n = -
= m) A3
L “ - il |
A | E 0 5 | N

@ 153 %) (@)
il [l e 61 206 ]
A N 213, 6 8213
T ~ 6,60 7,26 e E—— 26§
( ) 5
-

_ o 'vuluu - I 5 ;
o Imes = | il e 0 I
13580 o2 924 |y 120 11201 2 | FRH & 924 | 120
= —— P —— - = - p— S
&S




